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1. 1.2#1 If the value of y can be determined from the value of x, then yisa _ofx.

2. 1.2 #27 Cameron and his buddy purchased a used circus carousel for $69,733, inciuding sales tax. If
the sales tax rate is 7%, what was the price of the carousel, before the sa]esﬁ t}){?
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3. 1.2 #47 After one year, Johnny’s two mutual funds earned a total of $5300. The first fund had a 6%
rate of return. The second, in which he invested $7,000 more than the first, had a 7% rate of return.
What was the amount of Johnny’s total mutuai fund %e}stment‘?
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4. 1.2 #50 How many ounces of 30% alcohol solution must be mixed with 40 ounce
solution to obtain a mixture that is of 70% alcohol solution?
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Bonus What’s the total volume of the final 70% aicohol solution?
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3. 1.2#51 The old combine can harvest the crop in 72 hours, but the new combine can do the same job in
48 hours. How long does it take to harvest the crop with borh combines working together‘?
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6. 1.2 #53 Batman can clean up Gotham City in 8 hours. Robin can do the job in 12 hours. If Robin
starts fighting crime at 8 a.m. and Batman joins in at 10 a.m., at what time will Gotham be crime-free?
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7. 1.3 #19 Find the distance between and the midpoint of the two points P(1, 3) and O(4, 7)

# A % A

40 @) = (0 (a3

= ES e G g
m.\d(@a@x:@‘“ 3£

%
: F ! '
-t s iR
i vl =) ( o, B S
8. 1.3 #50 Find the center and radius of the tircte-ant KSR T x° + 7 +6y =0
N
- “‘iiz;”'m,_%
ATV =0 me@ o
. D o e D ‘
W gﬂz‘%— (mj + 3 =3

>+ (kj-f'%yz =9
(n i\ (0,73
= <




